# Division (International) with a Helper Grid Name:
Solve each problem. Answers

) 540: 4 2 2/33: 9 =

3 516 : 7 = 4d 474 : 6 =

59 827 : 6 = 6) 125 : 3 =

1-6 |83]|67]50[33][17] 0 |
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ﬂh Division (International) with a Helper Grid Name.Answer Key

Solve each problem. Answers
1) 540 : 4 =135 2) 233: 9 =025r8
2 1 135
- -0
14 23
-12 18 2 2518
20
53 s 7315
-12/0 -14/5
0 8 4. 79
5. 137r5
6. 41r2
3 516 : 7 =073r5 4d 474 : 6 =079
-0 -0
51 4|7
-14|9 -14|2
26 514
-121 -5/4
5 0
5 827 : 6 =137r5 6) 125 : 3 =041r2
-6 -
22 2
.18 -12
4.7 05
-142 -3
5 2
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